FERR 245

KEKFPDBMGFEDERIEHER
BT = K &8 (KEK)
kB - BABE | o | o oD
VK2 440110 OK) - EARGAE| A (<0.7) | A (<0.7) | A (<0.7)
VK2 440250 Ok - EARKBAKRE|] A (<0.8) | AFH (<0.9) | A (<0.7)
TRk 2 450160 Ok - EARGKE| A (<0.8) | AFH (<0.7) | AHH (<0.7)
PRk 2 45300 Ok - EAGARE| A (<0.7) | AFH (<0.8) | A (<0.6)
TRk 2 496130 Ok - EARGKE| A (<0.8) | AFH (<0.8) | A~ (<0.7)
VK2 46 A2 7H Ok - EARGAKRE|] A (<0.6) | AFH (<0.7) | A (<0.7)
P2 AETHLIE OK) -k | A (<0.7) | A (<0.5) | AR (<0.6)
ER 2 A4 7TH 250 OK) - EARAKR | A (<0.8) | A (<0.7) | A (<0.7)
Rk 2 48 8 H (UK - Ak | AR (<0.8) | A (<0.6) | R (<0.6)
R 2 48 H 2 2 0 OK) - Bk kR | AR (<0.6) | A (<0.8) | A (<0.6)
T2 498 5H Ok kRTFAEKAKRE| AR (<0.7) | A (<0.6) | A (<0.7)
P2 498190 Ok - EARRKR| A (<0.7) | A (<0.7) | A (<0.7)
k2 4410430 (k) *E/ Tkl | R (<0.8) | R (<0.9) | Ak (<0.6)
TEk2 4 10A 1 7R (k) *=/ Fkke| AR (<0.7) | Rfa (<0.8) | A (<0.6)
FR2A4E10A3 1R Ok - ARk Al (<0.7) | Al (<1.0) | Al (<0.7)
T2 41 1A 140 Ok *E sk R (<0.8) | A (<0.9) | R (<0.8)
FH2 411 A28A (K - ARk R (<0.9) | A (<0.7) | R (<0.7)
R 2 44EI2A 128 (k) *kEE 2 kit | R (<0.9) | A (<0.9) | R (<0.7)
TH2 44120260 (0K - EAkRAR ] AR (<0.6) | A (<1.0) | R (<0.6)
FRe2 541 H 16 0 (k) RIS 2 fkke| R (<0.7) | A (<0.7) | A (<0.6)
ER2 541300 (k) - BAfKAR ]| R (<0.8) | R (<0.8) | R (<0.7)
FH2 542 A 130 (k) kK FEakkE | R (<0.8) | A (<0.7) | R (<0.6)
ER2 54227 H (K) - BARKAR | R (<0.5) | A (<0.9) | R (<0.6)
FH2 543 A1 3R (k) *E/ Fhkik | R (<0.6) | A (<1.0) | R (<0.7)
ER2 54327 H (K) - BARKAR | R (<0.7) | A (<0.6) | R (<0.6)
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